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Research Methodology

Section Id : 549470326
Section Number : 1
Mandatory or Optional : Mandatory
Number of Questions : 59

Section Marks : 70

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 1 Question Id : 54947023169 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘What is the most advantage of giving homework to students?

Options :
Remain busy at home
1%
Study at home
2. %

May be checked for their progress

May develop the habit of self study
4.9



Question Number : 2 Question Id : 54947023170 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Who is regarded as Father of Computers?

Options :

Pascal

Bill Gates

2. %

Charles Babbage
3.¢

J. V. Neumen
4.%

Question Number : 3 Question Id : 54947023171 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

National literary Mission was established in the year

Options :
1996
1. *®
1988



1999

2000

Question Number : 4 Question Id : 54947023172 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who advocated the 1dea of basic education in India ?
Options :

Dr. Zakir Hussain

1. *
Dr. Rajendra Prasad
2. %
Mahatma Gandhi
3.
Rabindranath Tagore.
4.%

Question Number : 5 Question Id : 54947023173 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The best remedy of the student’s problems relating with learning is

Options :

Suggestion for hard work

1. ®

Supervised study in study hours
2. %

Suggestion for private tuition
3. %

Diagnostic study
4. &

Question Number : 6 Question Id : 54947023174 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Traditional teaching method is known as

Options :

Chalk and teach
1.

Brainstorming



Group discussion

Demonstration

Question Number : 7 Question Id : 54947023175 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which organization initiated the MOQOCsSs in India?

Options :
CSIR
1. *®
DST
2. %
AICTE
3.¢
UuGC
4, *®

Question Number : 8 Question Id : 54947023176 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The conceptual framework to carry out research is known as of research.

Options :

Objectives
1. ®

Synopsis
2. %

Design
3. ¢

Hypothesis
4. %

Question Number : 9 Question Id : 54947023177 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Evaluation of the depth of any research is based on
Options :

Objectives
1.¢¥

Time period



Money spent

Topic

Question Number : 10 Question Id : 54947023178 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which technique 1s used when the population is fixed or restricted to sampling?

Options :

Purpose
1. ®

Cluster
2. %

Systematic
3.¢

Stratified
4. %

Question Number : 11 Question Id : 54947023179 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which one is considered as most comprehensive source of population data?

Options :

Sampling
1. %

Census
2.

NSS
3. %

Primary Health Studies

4.%

Question Number : 12 Question Id : 54947023180 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The following characteristic is not covered in descriptive research.

Options :

What

Where



When

Why

Question Number : 13 Question Id : 54947023181 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The basic characteristic of experimental research is
Options :

The independent variable i1s manipulated

1.
Goals
2. %
A hypothesis
3. %
Design
4.%

Question Number : 14 Question Id : 54947023182 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In the following aspects, which one is not considered in research ethics?

Options :

Respect intellectual property

1%

Objectivity
2. %

Cut and paste
3.¢

Honesty
4.%

Is Section Default? : null

Question Id : 54947023183 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (15 to 21)

Read the following passage carefully and answer the questions from 135 to 21:

Throughout human history the leading causes of death have been infection and trauma.
Modern medicine has scored significant victories against both, and the major causes of ill health
and death are now the chronic degenerative disease, such as coronary artery disease. arthrifis,
cataract and cancer. These have a long latency period before symptoms appear and a diagnosis is
made. It follows that the majority of apparently healthy people are pre-ill.



Many national surveys reveal that malnutrition is common in developing countries. This
is not the calorie or micronutrient deficiency associated with developing nation: but multiple
micronutrients depletion. usually combined with calorific balance or excess. The incidence and
severity of Type B malnutrition will be shown to be worse if newer micronutrients groups such
as the essential fatty acids and flavonoids are included in the surveys.

However, the pharmaceutical model has also created an unhealthy dependency culture, in
which relatively few of us accept responsibility for maintaining our own health. Instead. we have
handed over this responsibility to health professional who knows very little about health
maintenance or disease prevention.

Based on pharmaceutical thinking. most intervention studies have attempted to measure
the impact of a single micronutrient on the incidence of disease. The classical approach says that
if you give a compound formula to test subjects and obtain positive results. you cannot know
which ingredient is exerting the benefit, so you must test each ingredient individually.

So do we need to analyze each individual’s nutritional status and then tailor a formula
specifically for him or her? While we do not have the resources to analyze millions of individual
cases and there is no need to do so. The vast majority of people are consuming suboptimal
amounts of most micronutrients and most of the micronutrients concerned are very safe.
Accordingly, a comprehensive and universal program of micronutrient suppoit is probably the
most cost-effective and safest way of improving the general health of the nation.

Sub questions

Question Number : 15 Question Id : 54947023184 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Type B malnutrition will be worse if
Options :

Micronutrients groups are included

1. %
Fatty acids and flavonoids are included
2.¥
Both Micronutrients groups and Fatty acids and flavonoids are included
3. %
Fatty acids added
4.%

Question Number : 16 Question Id : 54947023185 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the process to know which ingredient 1s exerting the benefit?
Options :

Give compound formula to test subjects

Test each ingredient individually
2.¥



Study the impact of single micronutrients

None of these

Question Number : 17 Question Id : 54947023186 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Pharmaceutical model created

Options :
Business improvement
1. ®
Nutritional status
2. %
Most unhealthy dependency culture
3.9

Nomne of these

Question Number : 18 Question Id : 54947023187 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



‘What 1s required to improve general health of the nation?

Options :

A comprehensive program
1. ®

Universal program of micronutrient support system
2. %

3 All options

Give money to households

Question Number : 19 Question Id : 54947023188 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What does classical approach say to measure the impact of a single micronutrient on
the incidence of disease?

Options :

You must test each ingredient individually
1.¢¥

Those who know very little about health maintenance or disease prevention



A diagnosis 1s made

Test all the aspects at a time

Question Number : 20 Question Id : 54947023189 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Malnutrition 1s common in

Options :

Western countries

1. %

South Asian countries
2. %

East Asian countries
3, %

Developing countries
4.

Question Number : 21 Question Id : 54947023190 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Micronutrient support is
Options :

Most cost-effective

1. %
Safest

2. %

Both cost-effective and safest
3.

Not desirable
4, %
Is Section Default? : null

Question Number : 22 Question Id : 54947023191 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Encoding refers to

Options :

Creating disturbance

Referring the message



With the assistance of symbols to express an idea
3.¢¥

To interpret a message

Question Number : 23 Question Id : 54947023192 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the progress of two- way communication. the sender is at one end while the
1s at the other end

Options :

Recelver
1.

Message
2. %

Transform
3. %

Make ready
4. %

Question Number : 24 Question Id : 54947023193 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



What type of communication is being followed in Video conferencing?

Options :

Only visual
1. %

Two way visual
2. %

Two way Audio-visual
3.¢¥

One way audio- visual
4.%

Question Number : 25 Question Id : 54947023194 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the communication, conversation comes under the category of

Options :

Non- verbal

Verbal
2. ¢



Drafted

Facial

Question Number : 26 Question Id : 54947023195 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following. which one is considered as semantic barrier of communication?

Options :
Attention of the receiver is diverted
1%
Humming
2. %
Signal 1s lost before reaching the receiver
3. %
Receiver is not able to understand the meaning of the message
4.9

Question Number : 27 Question Id : 54947023196 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



It 1s desirable to start the class room communication with

Options :

Commands
1. %

Narration
2. ¢

Authority

3, %

Variability
4. %

Question Number : 28 Question Id : 54947023197 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following. which agency in India 1s announcing the central government programs
and policies?

Options :

PTI

AIR



PIB

UTI

Question Number : 29 Question Id : 54947023198 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Who is considered as father of reasoning?

Options :

Aristotle
1.

Plato

2. %

Rossow
3. %

Mantesquo
4. %

Question Number : 30 Question Id : 54947023199 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Find out the missing element in the following series: ABD. EFH. IJL. MNP and QRT.

Options :

/ZXB
1. ®

XYZ
2. %

WXY
3. %

UVX
4.

Question Number : 31 Question Id : 54947023200 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Find out the wrong number in the following number series: 583. 643. 800 and 691.

Options :



800

691
Question Number : 32 Question Id : 54947023201 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

For example, in certain language, CLASS is written as DMBTT. What will be the code
for BLUE?

Options :
1. %

CMVF
2.9

CNWH
3. %

DNWG
4, #

Question Number : 33 Question Id : 54947023202 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In the following, which is the largest amongst 5/8, 2/3, 7/9, 3/57?

Options :

5/8
1. %

2/3
2. %

3/5
3. %

7/9
4.9

Question Number : 34 Question Id : 54947023203 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Suppose the length and breadth of a rectangle are in the ratio 3:1. If the breath is 7 cm.
then the length of the rectangle should be

Options :

21 cm
1.

18 cm



16 cm

14 cm

Question Number : 35 Question Id : 54947023204 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the average of the 12 numbers i1s 15. Suppose a number 41 is also included. then
what will be the average of these 13 numbers?

Options :

16
1. =

18
2. %

19
3. %

17
4. &

Question Number : 36 Question Id : 54947023205 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



* Should India make efforts to exploit renewable energy to fulfill its energy
requirements’?
I. Yes. most of the non- renewable sources of using at present are exhaustible.

I1. No. exploiting renewable energy requires a huge investment and India is not in
a position to invest that much amount of money.

Options :

Only argument I is strong
1. ¢

Only argument IT is strong
2. %

Either I or II is strong
3. %

Neither I nor II is strong
4. %

Question Number : 37 Question Id : 54947023206 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Induction reasoning consists the following.

Options :



Starts with a general idea and reaches to specific conclusion

1. %
‘If” and ‘then’ statements are figured
2. %
Drawing a general conclusion from a set of specific observations
3. ¢
“Top —down’ thinking
4. %

Question Number : 38 Question Id : 54947023207 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Deduction reasoning involves .......

Options :

Conclusions are drawn from a set of specific observations

It quick way to make decisions

" Bottom- up” logic



Moving from general to the specific

Question Number : 39 Question Id : 54947023208 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Flow: River:: Stagnant : ?

Options :

Stream
], %

Rain
2. %

Pool
3. %

Canal
4. %

Question Number : 40 Question Id : 54947023209 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Indian logic ‘Anumana’ refers to

Options :



Perception

], %

Inference
2. ¢

Implication
3 %

Comparison
4, %

Question Number : 41 Question Id : 54947023210 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the meaning of *Anupalabdhi’?

Options :
Postulation
], %
Verbal testing
2. %

Non-apprehension
3.¢¥



Inference

Question Number : 42 Question Id : 54947023211 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following ‘Hetvabhasa’ is associated in the argument * sound 1s
eternal because if 1s caused™?

Options :

Viruddha or contradictory
1.

Satpratipaksa or inferentially contradicted
2. %

Sandyasama or the unproved
3. %

Badhita or non- inferentially contradicted
4.%
Is Section Default? : null

Question Id : 54947023212 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (43 to 45)



Note:

Study the following Pie-chart carefully and answer the questions 43 — 45. It gives data on
how the monthly income of a person is allocated to different heads.

House Rent

20° Savings

ntertainment

Sub questions

Question Number : 43 Question Id : 54947023213 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the house rent paid in a month i1s Rs.16500, then the amount allocated on travel in
that month, in rupees, 1s



Options :

6500
1. %
7500
2.
3500
3. %
9500
4.%

Question Number : 44 Question Id : 54947023214 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the amount spent in a month on travel is Rs 8000, then total income in that month is

Options :
60,600
1. ®
57.600
2.
54.400



57.000

Question Number : 45 Question Id : 54947023215 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the total income in a month is Rs. 54.000. then the difference in the amounts spent on
food and travel in that month. in rupees. is

Options :

6000
1. v

7500
2. %

9000
3. %

10500
4, ®
Is Section Default? : null

Question Id : 54947023216 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 49)



Note:

Study the following Table carefully and answer the questions from 46 to 49. It gives data on
marks obtained by students in different subjects during 2007-2010.

Year English Maths Science Social Science
High. Ave. High. | Ave. High. | Ave. High. Ave,
2007 80 70 94 60 &9 70 65 55
2008 82 65 85 62 95 64 66 58
2009 71 56 2 68 97 68 68 48
2010 75 52 91 64 92 75 77 58

Sub questions

Question Number : 46 Question Id : 54947023217 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘What is the overall average of marks in the four subjects in the year 20097

Options :

63

64



o
LN

60

Question Number : 47 Question Id : 54947023218 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Suppose that there were 40 students in science in the yvear 2009, how much total marks
did they receive when combined together?

Options :

2800
1. %

2720
2.9

2560
3. %

3000
4, %

Question Number : 48 Question Id : 54947023219 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In which year. the difference between the highest and the average marks in Maths was
maximum?

Options :

2009

2010

2007
3.¢

2008

Question Number : 49 Question Id : 54947023220 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which vear. the difference between the highest and the average marks in social
sciences was least ?

Options :

2009

2010



2007

3. %
2008
4. &
Is Section Default? : null

Question Number : 50 Question Id : 54947023221 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following acronyms, data is transferred securely across the world wide web.

Options :

HELLE
1. #®

HTTPS
2.9

POP
3. %

IMAP
4, ®

Question Number : 51 Question Id : 54947023222 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which software 1s needed to create slideshows?

Options :
Paint
] ®
Microsoft Word
2. %
Windows X P
3. %
Micro Soft Power Point
4. ¢

Question Number : 52 Question Id : 54947023223 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Joystick device.
Options :

Input
1. ¢

Output



Storage

Network

Question Number : 53 Question Id : 54947023224 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Python is

Options :

An operating system

1. ®

Programming Language
2.9

An application program
3. %

A compiler
4. %

Question Number : 54 Question Id : 54947023225 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Speed of internet is measured in

Options :

GHZ
1. ®

GBPS
2. ¥

GB
3. %

DPI

4, %

Question Number : 55 Question Id : 54947023226 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

VIDWAN scheme of MHRD 1s aimed at

Options :

Creating a database to national research network
1. ¢

Making available e-resources



Promoting entrepreneurship among faculty

Awarding National professorship to faculty

Question Number : 56 Question Id : 54947023227 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The UGC portal * e-SARTS 1s for

Options :

Special Assistance for Research in Technology and Sciences
1. *

Special Assistance for Research and Training in Sciences
2. %

Support for Academic and Research Training in Social Sciences

Scholarship — Fellowship Award Registration Tracking System
4. <

Question Number : 57 Question Id : 54947023228 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In the following millennium goals , which one is not considered?

Options :

Achieve Universal Primary education
1. %

Ensure healthy lives and promote well being for all at all ages
2.¥

Ensure environmental sustainability
3. %

Eradicate extreme poverty and hunger

4.%

Question Number : 58 Question Id : 54947023229 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The sustainable goals proposed by the United Nations will be achieved by the end of
year.

Options :

2045

2040



-3
=
Lad
Lh

4.9

Question Number : 59 Question Id : 54947023230 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the most adverse consequence of modern agriculture ?

Options :
Decrease in animals and their natural habitats
1. ®
Water pollution due to usage of chemical fertilizers and pesticides
2. ¢
Soil erosion
3. %
Employiment opportunities increase
4.%

Question Number : 60 Question Id : 54947023231 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In the following, which gas is occurring abundantly in the air naturally?

Options :
Water vapor
1. %
Carbon dioxide
2. %
Nitrogen
3.¢¥
Oxygen
4. %

Question Number : 61 Question Id : 54947023232 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In India, the first nuclear reactor was set up at

Options :

Bombay
1. ¢

Kalpakam



Hyderabad

Tarapur

Question Number : 62 Question Id : 54947023233 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following . which one is not considered as natural disaster ?

Options :
Cyclone
1. *
Earthquake
2. %
Tsunami
3. %

Short circuit fire
4, &

Question Number : 63 Question Id : 54947023234 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The species whose population has been reduced considerably and is at the verge of
extinction. is called as species.

Options :

Rare

Endangered
2.¥

Vulnerable

3. %

Indeterminate

Question Number : 64 Question Id : 54947023235 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following traditional Universities, which one is not established in the year 18577

Options :

Bombay

Delhi



Calcutta

Madras

Question Number : 65 Question Id : 54947023236 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Which organization is established in India to promote, review. encourage, assist. and
coordinate social science research

Options :
NCAR
1. %
NCERT
2. %
CSIR
3. %
ICSSR
4.

Question Number : 66 Question Id : 54947023237 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In which year the first Open University in India was established?

Options :

1986
1. %

1980
2. %

1982
3.¢¥

1985
4. %

Question Number : 67 Question Id : 54947023238 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The NCTE established in India to strengthen

Options :

Teacher education
1. ¥

Technical education



Computer education

Medical education

Question Number : 68 Question Id : 54947023239 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the purpose of establishing the National Skills qualification framework in the
country ?

Options :
Technology development

1. ®

Social development
2. %

To develop competencies at different levels
3.¢

Rural development

4.%

Question Number : 69 Question Id : 54947023240 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



What 1s the main purpose of establishing National program for Technology Enhanced
Learning ( NPTEL) by the MHRD?

Options :
To promote Engineering education
1.¢¥
To promote higher education
2. %
To promote technology in agriculture
3. %
To develop pollution free technologies
4.%

Question Number : 70 Question Id : 54947023241 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the explicit objective of value education?

Options :

To mculcate economic values



To inculcate political values

2. %
To mculcate cultural values
3, %
To inculcate moral values
4, &
Section Id :
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Mandatory or Optional :
Number of Questions :
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Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Is Section Default? :

Question Number : 71 Question Id : 54947023242 Display Question Number :
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kalidas’s Malavikagnimitra described

a. The war between Vidisha and Vidarbha
Greeks invasion during the 2nd century B.C.
The expeditions of Samudra Gupta
Defeat of the Greeks on the banks of Indus

RO O
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Yes Is Question Mandatory : No Calculator : None Response



Options :
a&b

b&c

c&d

a&d
4. &+

Question Number : 72 Question Id : 54947023243 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following

1. “History of Aurangzeb” a) Irfan Habib
2. “Early History of the Deccan”™ b) R.G.Bhandarkar
3. “the Agrerian system of Moghal india™ c¢) J.N.Sarkar
4. *“A new history of Marathas™ d) Serdesai
Options :

1-b, 2-c, 3-d, 4-a

1-a, 2-b, 3-c, 4-d



1-¢. 2-b. 3-a 4-d

[ e I e I
4, %

Question Number : 73 Question Id : 54947023244 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Dolmens or Megalithic tombs are characteristic of the

Options :

Palaeolithic age

Mesolithic age

Neolithic age
3.

Chalcolithic age

Question Number : 74 Question Id : 54947023245 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following was not among the religious beliefs of Indus Valley people?

Options :



Nature worship
1. ¢

Pasupati

Mother Godess

Animicism

Question Number : 75 Question Id : 54947023246 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Most of the scholars believe that the land of “Meluha™ or “Melukka™ described in
Sumerian documents belong to

Options :

Neolithic age
Indus Valley civilisation
2.¢

Rigvedic culture
3. %



Later Vedic culture

Question Number : 76 Question Id : 54947023247 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the mcorrect statement regarding Sabha and Samiti

Options :

Samiti was an assembly of the people of the tribe

1. %
. Sabha was a council of elders
2.
During the later vedic period Sabha and Samiti lost their significance
3.¢¥
During the later Vedic period women were excluded from Sabha
4.%

Question Number : 77 Question Id : 54947023248 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following was not the principle of Jainism?
Options :

Belief in the existence of God
1.



No faith in Vedic and supremacy of Brahmins

Emancipation of women

Theory of Karma and Transmigration of Soul

Question Number : 78 Question Id : 54947023249 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Macedonian Satrapies of India which were established by Alexander were soon
swept by

Options :

Mahapadma Nanda

1. %
Chandragupta Mourya
2.¢
Pushyamitra Sunga
3. %

Bimbisara
4, %



Question Number : 79 Question Id : 54947023250 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the incorrect statement about the economic conditions of the early
Magadhan hegemony

Options :

The important crafis were organised into guilds

1%
Sahajati and champa were the important sea ports
2.¢
Important high way laid between Banaras and Sravasti
3. %
“Karshapana™ was the medium of exchange
4.%

Question Number : 80 Question Id : 54947023251 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Mounrya administration claimed

Options :

Divine Kingship
1. %



Enlightened despotism
2. %

Absolute Monarchism

Government Peternalism
4. ¢

Question Number : 81 Question Id : 54947023252 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the works of Asoka from the following
a. Caves in Nagarjuni and Barabar hills
b. Chaitya at Purushapura
c. Buddha image at Saranath
d. Stupa at Sanchi

Options :

a & b only

1. %

b & c only

2. %

¢ & d only

3. %



v a & d only

Question Number : 82 Question Id : 54947023253 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following mscriptions with the kings mentioned in them

a. Avyodhya 1. Rudradamana

b. Junagadh ii. Kharavela

c. Nasik ii1. Pushyamitra Sunga

d. Hathigumpha 1v. Gautamiputra Satakarni
Options :

a-ii1, b-1, c-1v.d-1i
1. v

a-11, b-iiL c-iv, d-1
2. %

a-1, b-1i, c-iit, d-1
3. %

a-1v, b-1ii, c-i1, d-1
4, %

Question Number : 83 Question Id : 54947023254 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The Gautamiputra Satakarni defeated the Saka King

Options :
Nahapana
1. ¢

Bhumaka
2. %

Rishabhadatta
3, %

Dharmaveda
4. %

Question Number : 84 Question Id : 54947023255 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

“the Gandhara Artist had the hands of a Greek and the heart of an Indian™ was the
remark of

Options :

Romilla Thapar

1. ®

A. L. bhasham

R. C. Majumdar
3.¢



H. C. Rayachaudhari

4.%

Question Number : 85 Question Id : 54947023256 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following scientists of the Gupta period with their works

a. Aryabhatta i. Law of gravity
b. Palakavya i1. Explained true causes for solar and lunar eclipses
c. Bhahmagupta iii. Divided the Jotisha sastra in to three branches
d. Varahamihira iv. Works on veterinary science
Options :
a—ii, b—11i, c—1v, d-i
1. ®
a—it, b—1v, ¢c—1. d-ii
a—iv. biii, c—ii, d-i
3. %

a—1. b—i1. ¢— 111, d—1

Question Number : 86 Question Id : 54947023257 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Choose the mcorrect statement regarding the Mahamoksha parishad held at Prayaga
by Harshavardhana

Options :
About 500,000 people attended from the distance corners of “Five Indias”

Images of Buddha. Adityadeva and Isvaradeva were installed

The Chinese pilgrim Itsing witnessed the grand assembly
3.¢¥

Harshavardhana distributed his wealth in charity on this occasion

Question Number : 87 Question Id : 54947023258 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The tutelary deity of Salankayana dynasty was

Options :

Sun-God
1. ¢

Siva
2. %



Vishnu

. Durga
4,

Question Number : 88 Question Id : 54947023259 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the mcorrect pair from the following
Options :

Konganivarma — Ganga

[ ®
5 Mayurasarman — Kadamba
. Nedunjelian — Pandya
3.
Karikala — Chera
4.

Question Number : 89 Question Id : 54947023260 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The beginning of the Pallava Chalukya

Options :



Battle of Manimangala

Battle of Pallalur
2. ¢

Battle of Madurai

Battle of Mamallapuram
4. %

Question Number : 90 Question Id : 54947023261 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the following statements which testify the influence of Vedic culture on
Tamilian culture of Sangam age
a. The episode of Ramayana and Mahabharata were frequently mentioned in
the literature of the Sangam age
b. Tolkappiam mentioned eight forms of marriage
c. The worship of Murughan
d. Reference to the costly scarifies performed by monarchs

Options :

a.b &conly

b. ¢ & donly



a.b & donly
3.¢

a.,c & donly
4. %

Question Number : 91 Question Id : 54947023262 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the mcorrect pair of the Kakatiya period.

The king Construction of temple
Options :
Prolaraju II —  Siddesvara Alaya. Aanumakonda
1. ®
Rugradeva I —  Thousand Pillar Temple. Aanumakonda
2.¢
Rudramadevil — Padmakshi Temple, Aanumakonda
3. %
Recharla Rudra — Ramappa Temple. Palampeta.
4.%

Question Number : 92 Question Id : 54947023263 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Match the following:
a. Mahendravarma I 1. Parameswara Temple. Gudimallam
b. NarasimhavarmaI  ii. Panchapandava Cave, Pallavaram
c. Narasimhavarma IT 1iii. Monolithic Rathas, Mamallapuram
d. Nandivarma iv. Kailasanatha Temple, Kanchipuram

Options :

a—1i1. b—111. ¢c—1v. d—1
1. ¢

a—1. b—i1. ¢c—111., d—1v
2. %

a—iil. b—1v. ¢c—1. d—11
3, %

a—1v. b—1. ¢c— 11. d—11

Question Number : 93 Question Id : 54947023264 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following:
a. Jivakachintamani 1. Javamagondar
b. Kalingattupparani ii. Sekkilar
c. Ramavataram ii1. Tirutlakkadevar
d. Periyvapuranam iv. Kamban



Options :

a—i1, b—1. c—1v, d—iu

1. %

a—1v. b—1. c—1i1. d-11
2. %

a—1. b—1. c—1v. d—in
3, %

A b1 e w.d i
4. ¢

Question Number : 94 Question Id : 54947023265 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The cess “Turakadandu™ was collected by

Options :

Prathihara

Gahadvala
2.9

Chauhan
3, %

Paramara
4. %



Question Number : 95 Question Id : 54947023266 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Uddantapura and Vikramasila universities were founded during the

Options :

Prathiharsas

Pala period

2.9

Rashtrakutas
3, %

Maukharies
4, %

Question Number : 96 Question Id : 54947023267 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Abdul Razzaq visited Vijayanagar during the reign of

Options :

Devaraya II
1. ¢

Narasiumha Salva
2. %



Krishna Deva Raya

Aliya Rama Raya

4. %

Question Number : 97 Question Id : 54947023268 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following works with the authors:

a. Tabagat-1-nasiri i) Amir Khusrau
b. Tughluq - Nama i1) Isami
c. Tarikh-i-Firozshahi ii1) Minhaj-us-Siraj
d. Futuh-us-salatin iv) Ziauddin Barauni
Options :
a-ii, b-1i1. c-1v. d-i
1. %
a-iii. b-i. c-it. d-1v
2. %
a-1, b-ii, c-1i1, d-iv
3. %
a-ii1. b-1. c-1v, d-i1
4. &

Question Number : 98 Question Id : 54947023269 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the mcorrect pair:
Options :

Qutb-ud-din Aibak - Founder of Independent Islamic state in India

1. %
[Ttutmish - Completion of the structure of Qutb-Minar
2. %
Raziyya Sultana - Appomted Altuniya to the post of master of stables
3.¢¥
Balban - Vanished the power of chihalgani
4. %

Question Number : 99 Question Id : 54947023270 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct statements about the Ala-ud-din’s conquest of Gujarat.

Options :

Uhegh Khan and Nusrat Khan head the army.

The then ruler of Gujarat was Ramachandradeva
2.



A voung eunuch named malic Kafur was brought away from Gujarat.
3. %

Ala-ud-din married Kamaladevi, the queen of Gujarat
4.%

Question Number : 100 Question Id : 54947023271 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The following battles Shershah defeated Humayun.
1) Gaur
11) Chunar
iii) Chausa
1v) Kanauj
Options :

i & i1 only

1. %
i1 & 1i1 only
ii1 & 1v only
3.¢¥

1& iv only

4.%



Question Number : 101 Question Id : 54947023272 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most distinguished triumph of Mughuls during the reign of Jahangir was the
victory over

Options :

Mewar
1. ¢

Ahmadnagar
2. %

Qandahar
3. %

Golkonda

4. %

Question Number : 102 Question Id : 54947023273 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The founder of the Suryavamsa Gajapati dynasty of Orissa

Options :

Narasimha Gajapati
1. %

Purushottama Gajapati
2. %



Prataparudra Gajapati

Kapilendra Gajapati

Question Number : 103 Question Id : 54947023274 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the mcorrect pair of the Deccan Sultans

Options :

. Berar — Imad Shahi
1.

Ahmadnagar — Adil shahi
2.¥

Golkonda — Qutb shahi

3.%

Bidar — Barid shahi
4, %

Question Number : 104 Question Id : 54947023275 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Choose the correct statements regarding the Treaty of purandhar concluded between
Sivaji and the Mughals
a. The treaty was concluded in 1665
b. Sivajiceded 12 of his forts to the Mughals
c. Sivaji promised to supply a contingent of 5,00.000 cavalry to the Mughal
army in Deccan
d. Sivaji was permitted to collect Chauth and Sardeshmutti in some districts of
Bijapur kingdom

Options :

a & b only

1. ®

b & c only
2. %

a & d only
3.¢

c & d only
4. %

Question Number : 105 Question Id : 54947023276 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Match the following departments with their names

a. Diwan-i-Arz 1) Department of Agriculture

b. Diwan-i-Amir kohi i1) Department of Slaves

c. Diwan-i-khatrat ii1) Military Department

d. Diwan-i-Bandagan 1v) Department of Charity
Options :

a-1. b-ii, c-iit. d-1v

a-1ii, b-1v, ¢-1, d-1i

a-ii, b-iii. c-1v. d-i

a-1i1. b-1. c-1v, d-11
4. &

Question Number : 106 Question Id : 54947023277 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The nature of the Government during the reign of Shershah was

Options :

Autocratic
1. %



Theocratic

2.

Enlightened despotism
3.¢¥

Bureaucratic
4.%

Question Number : 107 Question Id : 54947023278 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statement proves that the land revenue system of the
Mughals was better than the modern money rent system i agriculture?

Options :

Custom of payment of land revenue by the division of the crop on the basis of

the actual produce of the year.
1.¥

Peasants were not evicted from their holdings for default payment.

The land revenue fixed at the rate of 1/3 of the total produce.

Land revenue was payable in cash or kind.



Question Number : 108 Question Id : 54947023279 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

During the Vijayanagar period “Dasabandha Manyam™ was
Options :
Ten types of lands donated to the temples

1. %

The tax exemption given to the peasants who cultivated the new lands.
2.¥

The tax exemption on the lands given to the educational institution.
3. %

The land grants given to the fendatories.
4. %

Question Number : 109 Question Id : 54947023280 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following ministers of Astapradhans with their functions.

a. Amatva i) The superintendent

b. Sachiva i) Foreign Secretary

C. Sumant ii1) Royal Chaplain

d. Pandit Rao iv) The finance minister
Options :

a-i.  b-ii,  c-iv. d-1



a-1v. b-i c-1i, d-1i

2.9

a-1,  b-i.  c-ui, d-v
3. %

a-iv. b-1 c-itl,  d-1i
4.%

Question Number : 110 Question Id : 54947023281 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Which of the following were not the hereditary states of the Mughals?
a. Punjab
Bengal
Oudh
Maratha

0 o

Options :
a&b

1. #

b&c

2. %

c&d



Question Number : 111 Question Id : 54947023282 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

During the Mughal period though the textile industry flourished at its hight the
weavers were deprived from the profits due to

a. Weavers were directly finance by middlemen

b. The nobles and officers forced them to sell goods at lower prices

c. There was no demand in Europe for the Indian textiles

d. Impact of Industrial revolution

Options :

a & b only
1.¥

b & c only

2. %

c & d only

3. %

a & d only

4, %

Question Number : 112 Question Id : 54947023283 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



During the reign of Akbar the silver rupee was weighed
Options :

173 grains
1. %

174 grains
175 grains

176 grains

Question Number : 113 Question Id : 54947023284 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Diwan-i-Riyasat™ and shahana-i-mandi were the two officials of Ala-ud-din khalije
whose duty was to
Options :

Collect land revenue

Control the markets
2.



Maintain cavalry

Provide criminal and civil justice
4.%

Question Number : 114 Question Id : 54947023285 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following principals of Sufis

a. Tauba 1) Poverty
b. Jahud i1) Repentance over bad deeds
c. Faker ii1) tolerance
d. Sabr iv) Kindness
Options :

a-i. b-1. c-v. d-iii

1. %

a-1i, b-iv, c-1i, d-1
2. %

daay B, ik d-iii
3, %

a-i.  b-iv. c-1.  d-11
4. ¢



Question Number : 115 Question Id : 54947023286 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following was not the result of Bhakti movement?

Options :
Shattered the bondage of caste system

Helped in the rise of Hindi and vernacular languages

Head to the establishment of Maratha and Sikh Kingdoms

. Helped in developing the Hindu architecture in South India
4.

Question Number : 116 Question Id : 54947023287 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Name the following Mughal emperor who could tell the names of individual
painters in a composite piece.
Options :
Akbar



Jahangir

Shahjahan

Aurangazeb
4.%

Question Number : 117 Question Id : 54947023288 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fatehpur Sikri was a “reflex of the mind of a great man™ was the statement given by

Options :
V. A. Smith

1. %

Bernier

Fergusson
3.¢

Moreland

Question Number : 118 Question Id : 54947023289 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The firman of Farrukh Siyar 1717 provided the following privileges to English East
India Company.
Choose the mncorrect statement

Options :

The privileges enjoved by the East India company in Bengal was confirmed

Permitted the company to rent additional territory round Delhi and Oudh.
2.¥

They were exempted from all custom duties at Surat in return they have to

pay Rs 10,000 per annum.

The East India company was permitted to allow their currency throughout the
Mughal dominion.

Question Number : 119 Question Id : 54947023290 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Match the following wars with the treaties they ended.

a. Carnatic war-II 1) Treaty of Salbai
b. Anglo-Mysore war-II i1) Treaty of Pondicherry
c. Anglo-Maratha wars-I 111) Treaty of Allahabad
d. Battle of Buxar iv) Treaty of Manguluru
Options :
a-i,  b-1v.  c-l, d-i1i
1.v
a-iil, b-i.  c-iv, d-1i
2. %
a-iv,  b-iil,  c-ii, d-i
3. %
a-1, b-ii,  c-il. d-iv
4. %

Question Number : 120 Question Id : 54947023291 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following Act was not the reason for 1857 revolt?

Options :

General Service Enlistment Act-1856



Religious Disabilities Act-1856

Hindu widow remarriage Act-1856
3. %

Charter Act-1853
4.

Question Number : 121 Question Id : 54947023292 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following books with their authors

a. A History of the Sepoy war 1) Surendranatha Sen
b. The Indian war of Independence i) R.C. Majumdar

c. 1857 11) V.D. Savarkar

d. The sepoy mutiny & revolt of 1857 1v) J.W.Kaye

Options :

a-i, b-iv. c-ui, d-i

a-1. b-uL c-1v. d-1
2. %

a-iv, b-iii, c-1, d-ii
3. ¢



a-il. b-iv. c¢-ii. d-1

Question Number : 122 Question Id : 54947023293 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following Act of the British parliament given complete control to the
British Government over the East India Company’s affairs in India, through the
establishment of “Board of Control”?

Options :

Regulating Act 1773
1. ®

Pitts India Act 1784
2.9

Charter Act 1813

Charter Act 1833
4, %

Question Number : 123 Question Id : 54947023294 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following features of Permanent settlement 1793 are correct?
a) This Act vested the land ownership rights in zamindars
b) The Government issued pattas to the peasants to protect their rights
¢) The zamindar has to pay 10/11 portion of the fixed amount to the
Government
d) It was first introduced in Bombay and Madras presidencies.

Options :

a & c only
I

a & b only

b & c only

3. %

c & d only

4. %

Question Number : 124 Question Id : 54947023295 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Indian high courts Act 1861 established high court in
Options :

Calcutta — Allahabad — Bombay

1. %



Calcutta — Madras — Allahabad

2. %

Bombay — Madras-Allahabad
3. %

Calcutta — Bombay-Madras
4. <

Question Number : 125 Question Id : 54947023296 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following was not a famine conunission during the British rule in
India?

Options :

Sir John Strachey Comimission
1. ®

Sir James Lyall Commission
2. %

William Hunter Commission
3. ¢

Sir Anthony Mac Donnel Commission
4.%

Question Number : 126 Question Id : 54947023297 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the incorrect statement regarding the growth of railways under British Rule
it helped.

Options :

The Britishers to establish monopoly on Indian markets

Promoted the Indian small scale, cottage and village handicrafis

Increased connectivity to the remote areas to the port cities

The exporting of Indian raw material to England became cheap.

Question Number : 127 Question Id : 54947023298 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

** The Tata sons and company”. during the British rule was a

Options :

Railway Agency
1. %*

Managing Agency
2.



Telephones and Telegraphs agency

Textile Agency
4.%

Question Number : 128 Question Id : 54947023299 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the incorrect statement regarding the views of Swamy Dayananda
Saraswathi.

Options :

Recognised the Value of western Education

Encouraged female Education

Regarded the authority & puranas
3.¢¥

Opposed Polytheism and image worship
4.%

Question Number : 129 Question Id : 54947023300 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



‘Who was the first Indian to go to jail in performance of his duty as journalist?
Options :

Surendranath Benarjee
1.¥

Balagangadhar Tilak
2. %

Sasikumar Ghosh

Dadabhai Nauroji
4. %

Question Number : 130 Question Id : 54947023301 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In 1901 the first walk-out in India’s Legislative history was organised by

Options :

Dadabai nauroji and Badruddin Thyabji in Bombay legislative council
1. %

Surendranath Banerjee and Ananda Mohan Bose in Bengal legislative council
2. %

Womesh Chandra Banerjee and Ramesh Chandra Datt in Bengal legislative

council
3, %



Firoz shah Mehta and Gopala Krishna Gokhale in Bombay legislative council

4. <

Question Number : 131 Question Id : 54947023302 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following was not a cause for the decline of vandematharam
movement?
Options :
Heavy repression of the Government

1. #

Split in the congress during the Surat session. 1907
2. %

Lack of effective organisation
3. %

Rise of Revolutionary terrorism
4. <

Question Number : 132 Question Id : 54947023303 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Match the following newspapers with their editors.

a. Labour Kissan Gazette i) Gulam Hussain

b. The socialist i1) M. Singaravelu

c. Navyug ii1) S.A.Donge

d. Inquilab iv) Muzaffar Ahmed
Options :

a-ii,  b-1,  c-v, d-ii1

1. %

a-iil,  b-iv. c-ii. d-1
2. %

a-i1,  Db-1i.  c-1v. d-1
3.¢

a-1. b-iv. c-i.  d-i1
4, %

Question Number : 133 Question Id : 54947023304 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Palme Dutt criticised Gandhiji’s decision to with draw non-cooperation movement
for Gandhiji’s concern over

Options :

Peasants
1. %



Propertied classes
2.¢

Non-Violence
3 %

Policement
4, %

Question Number : 134 Question Id : 54947023305 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Subash Chandra Bose setup provisional government of free India in Singapore on
Options :

21% October 1943
1. ¢

21% Octorber 1944

2. %

30% January 1943
3%

30™ January 1944
4. %

Question Number : 135 Question Id : 54947023306 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0
Arrange the following revolutionary incidents of Indian freedom movement in
chronological order
a. Kamagata Maru Incident

b. Alipore Bomb case
c. Throwing a bomb in Delhi Assembly Hall
d. Kakori conspiracy case
Options :
c—a—b-d
1. %
b-a-d-c
2.¢
d-c—a-b
3. %
b-a-c-d
4.%

Question Number : 136 Question Id : 54947023307 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The principal of Mohammadan-Anglo-oriental college. Aligarh who influenced Sir.
Syyed Ahmad Khan against Hindus

Options :



Henry George Siddons

1. %
William Archbold
2. %
Theodar Beck
3.¢¥
\ JH.Towle

Question Number : 137 Question Id : 54947023308 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Historical relativism was emerged m
Options :

England
1. %

France

Germany
3. %

Ainerica
4. &



Question Number : 138 Question Id : 54947023309 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who said the History is a science of special kind?
Options :

Carr

J.B.Buiry

3 % Croce

Collingwood
4.9

Question Number : 139 Question Id : 54947023310 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the purpose of foot notes?
a. To cite on authorities

b. To avoid plagiarism

c. To supply additional information

d. To identify the chronology
Options :

a&b

1. %



Question Number : 140 Question Id : 54947023311 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

R.C. Dutt was the first scholar in India who wrote

Options :

Social History
1%

Economic History
2. ¥

National History
3. %

Diplomatic History
4.%



